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PHYSICAL EDUCATION
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

1.  Tiger Woods is related to :

(A) Billiards (B)

(C) Golf (D)
2. Dronacharya award is given to :

(A) Best player (B)

(C) Eminent Organizer (D)
3.  Nephron is a microscopic structure of :

(A) Lungs (B)

(C) Kidney (D)

4.  Obesity is caused due to :

(A) Deficiency of vitamines (B)

(C) Excess intake of calories (D)
5.  Pushing against wall is an example of :

(A) Isometric exercise (B)

(C) Eccentric exercise (D)
6.  Vitamin responsible for blood clotting is :

(A) Vitamin-C (B)

(C) Vitamin-K (D)

7. Freud, originated the :
(A) Psycho-Physiological theory (B)
(C) Somometric theory (D)

8.  Which factors affect time-table ?
(A) Number of students (B)
(C) Climatic conditions (D)

D—-4704 2

Polo
Chess

Successful coach

Eminent Physical Education Teacher

Heart

Liver

Deficiency of minerals

None of the above

Isotonic exercise

Ballistic exercise

Vitamin-B
Vitamin-A

Psycho-analytic theory

Psycho-somatic theory

Equipment available
All the above
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10.

11.

12.

13.

14.

15.

16.

17.

Which factors affect pace of recovery :
(A) Nature of load (B) Health and Physical fitness
(C) Sleep (D) All the above

The duration of meso-cycle is :
(A) 5 to10 days (B) 4 to 6 weeks
(C) 4 to 6 months (D) 1 to 2 years

Pre-school stage children need diet rich in :
(A) Proteins (B) Carbohydrates
(C) Fats (D) Vitamins

Pyorrhoia disease affects :
(A) Skeleton (B) Gums
(C) Genitals (D) Brain

Delimitation in Research report refers to :

(A) Setting limits to the problems of Research

(B) Limitation of Research in studying problem

(C) Defining the Research problem

(D) All the above

16 P.F. testis a:

(A) Psychological test (B) Sociological test
(C) Physiological test (D) Kinesiological test

Name the test to determine cardio-vascular efficiency :
(A) Hardward step test (B) Copper test
(C) Margaria step test (D) Bench test

Sports Development commission of Indian Olympic association is headed by :

(A) Prof. Vijai Kumar Malhotra (B) Prof. Karan Singh
(C) Shri. Sivanthy Adityen (D) Brig. K.P. Singh Deo

Indian Olympic Association is elected by :
(A) National Federations (B) State Olympic Associations
(C) Both the above (D) None of the above

D—-4704 4
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18.

19.

20.

21.

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Circuit training improves general physical and motor fitness.

Reason (R) : Interval training method improves speed. Select the correct answer
from the codes given below :

Select the correct answer from the codes given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Barrow Motor Ability Test includes : (i) Standing Broad Jump
(i) Zig Zag Running (iii) Six pound Medicine Ball Put.

Reason (R) : Purpose of Barrow Motor Ability test is to measure fundamental skill.
Select the correct answer from the codes given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Hypothesis leads to alternative solution to the problem.

Reason (R) : Every Research investigation need not have Hypothesis.

Select the correct answer from the codes given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : A test is valid when it measures what it proposes to measure
Reason (R) : Weighing machine measures the weight of an object

Select the correct answer from the codes given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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22.

23.

24.

25.

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Management involves-Planning, organising, admistering and
supervising the work.
Reason (R) : Well begun is half done.

Select the correct answer from the codes given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Politics and sports have nothing to do with each other.

Reason (R) : Sports spoils politics

Select the correct answer from the codes given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Physical Education is an Eclectic science.

Reason (R) : Physical Education borrows its principles from other sciences.
Select the correct answer from the codes given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Sports have cultural values

Reason (R) : Ancient Olympic Games were held at Olympia in Greece in Honour
of their God Zeus.

Select the correct answer from the codes given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true
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26. Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Muscles are Machines that convert chemical energy into mechanical

work.

Reason (R) : Skeletal muscles are called Voluntary muscles

Select the correct answer from the codes given below :

(A)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

27. Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Internal Respiration means the exchange of O, and Co, across the

capillary and cell membranes.

Reason (R) : Oxygenated Blood leaves left ventricle through Aorta and comes back

to right Auricle through vena cava. This circulation is known as
pulmonary circulation.

Select the correct answer from the codes given below :

(A)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

28. Identify the sequencial stages of human growth from early to later stages :

(A)
(B)
(©
(D)

Infancy, Childhood, Adolescence, Adulthood
Childhood, Infancy, Adulthood, Adolescence
Adolescence, Adulthood, Infancy, Childhood
Adulthood, Adolescence, Childhood, Infancy

29. Identify the sequencial order for a particular lesson from start to end of the lesson :

Teaching, Warming, leadup activity, Practice
Warming, teaching, Practice, leadup activity
Leadup activity, Practice, Warming, teaching

Practice, warming, teaching, leadup activity

10
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30. Identify the correct sequential order for the Presidents of Indian Olympic Association
from earlier to later :

(A)

Sri V.C. Shukla, Sri Shivanthi Adityen, Sri Raja Bhalendra Singh, Sri Suresh
Kalmadi

Sri Raja Bhalendra Singh, Sri V.C. Shukla, Sri Shivanthi Adityen, Sri Suresh
Kalmadi
Sri Raja Bhalendra Singh, Sri Shivanthi Adityan, Sri V.C. Shukla, Sri Suresh
Kalmadi
Sri Raja Bhalendra Singh, Sri Shivanthi Adityan, Sri V.C. Shukla, Sri Suresh
Kalmadi

31. Identify the sequencial order of covering (layer) of the heart muscle from outer to inner:

(A)
(B)
(©
(D)

Parietal Pericardium, Pericardium, Myocardium, Endocardium
Pericardium, Endocardium, Parietal Pericardium, Myocardium
Myocardium, Parietal Pericardium, Endocardium, Pericardium
Endocardium, Myocardium, Pericardium, Parietal Pericardium

32. Identify the sequential order of countries where commonwealth Games were held from
later to earlier :

(A)

U.K., Malaysia, Canada, New Zealand
Canada, UK., New Zealand, Malaysia
Malaysia, Canada, U.K., New Zealand
New Zealand, Malaysia, Canada, U.K.

33. Identify the correct sequence of Olympic cities from ealier to later :

(A)
(B)
(©
(D)

Atlanta, Barcelona, Seoul, Sydney
Seoul, Barcelona, Atlanta, Sydney
Barcelona, Seoul, Atlanta, Sydney
Atlanta, Seoul, Barcelona, Sydney

34. Identify the route of Oxygen transport in the body from earlier to later :

(A)
B)

Alveole, Trachea, Blood, Heart, Artery
Blood, Trachea, Alveole, Artery, Heart
Trachea, Alveole, Artery, Heart, Blood
Trachea, Alveole, Blood, Heart, Artery

35. Identify the correct sequence of smaller to larger area of play fields in the following :

Kabaddi, Kho-Kho, Badminton, Basketball
Badminton, Kabaddi, Basketball, Kho-Kho
Kho-Kho, Basketball, Kabaddi, Badminton
Basketball, Badminton, Kho-Kho, Kabaddi

12



30.

31.

32.

33.

34.

35.

Id | 9E 9 IR ScAftaeh §9 o Teal sl §el HH H ugaH :

(A) & . g, § e snfaem, St TS v 698, o g wedre
(B) it TSt vt g, ot .=, g, ot frardt snfeed, St g wemrer
(C) ot T wer=; T, ot forarh enfeem, 4t ot <. yaam, 4t e wemre
(D) ot TN o= o, 4t frardt snfeem, 4t . <. o, §t g wame

A o SIS T Rl T H 3T % Tl B hl T
(A) Tz Uiy, WRenfeam, Aedmmiéam, tSemtean
(B) Ufrifean, USmhifean, wge uftream, Argamhead
(C) TEAmERIead, Tged URehieaH, TSHhliean, IRanfead
(D) USrhITEam, HEaieay, URemean, Weea Remfean

1G9 T8l o hIAde TS Vel o §al Y ol I
(A) k., AR, HTel, =ISielve
(B) TS, .., SIS, HATI
(C) wifer, e, 9.%., =sieive
(D) <ISioIve, Telfemn, e, ..

fr=fafad ° o sTiafiaes TS I8 & T8 § G o Fel hH Jasd

(A)  3Tear, sifder, faefa, fae,
(B) Tasiia, sfer, stear, faet
(C) =t fasie, stear, fae,
(D) T, fasia, anfder, fae,

IR ¥ SifardTs IRae o Tl 1 T8el ¥ a1 1 Tl HH Jarey
(A) tfeaeia, ofen, =g, 76, el
(B) TS, Sfeher, Wfedete, oed, v
(C) fopan, TfeaeTd, 3Tl B, e
(D) <fran, Tfeastie, sc7e, 718, el

Frefafad Ta AeH § 4 912 ¥ 9 2T % 9 B9 i Ty ¢
(A) Hagl, G-, defHed, dhe sicl
(B) efled, wagl, dihe siid, Wi-al
(C) I, sitehe siic], hegl, SSHaT,
(D) di&he did, Sfted, @i-Bl, heagl

D—-4704 13
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36. Match Item I with Item II

Item I
(1) Davis Cup
(2) B.C. Gupta Trophy
(3) C. K. Naidu Trophy
(4) Uber Cup
Code

(1) 2) ()

(A) a b c
(B) b d c
© a C d
(D) C a b

37. Match Item I with Item II

Item I
by
M Xy
N+1
@ =
Q;-Q,
G =5
AN
Code :
1) () 3)
(A) d C b
(B) a d c
© C b a
(D) b a d

14

Item II
Tennis
Badminton
Basketball

Cricket

(4)
d

Item II

(a) Standard error

(b) Quartile Deviation

(c) Median

(d) Standard Deviation

Q. T o

(@]



T - 1 ot gt - 11 9 fiersa

36.

(a)
(b)
(©)

(d)

A~~~ N N~
- &N H
SN N N N

4)

(2)

wree SfaavH

(d)

(2)

c QO T
£ 9] o]
v T QO
T & U

O]

(o]

P.T.O.
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38. Match Item I with Item II

Item I

Basketball

Badminton

Cricket

Chess
(1) (2)
d C
C b
b d
a b

39. Match Item I with Item II

Item I

Irani Trophy
Grand Prix

B.C. Roy Trophy
Yonex Cup

—~~

1)

n & N o
P T a0
N

40. Match Item I with Item II

Item I
Olympics
Olympia
Olympiad
Olive

—~~
—
N—"
oo T oag
N—"

o ® o 0

o N o o5

—~
W
~

a0 o oo

N oY o5

o o
~— ~—

(@)
~

A~ N /N~
=)
~—

£

~_~ ~ ~~
=3
~— ~—

c

16

Item II
Rook
Ashes
Let

Pivot

(4)

v o o

(@]

Item II
Badminton
Football
Cricket

Tennis

oo ® ap

Item II

Tree

Gap between two Olympics

Competitions
City

(4)
a

C
b
d



Tl - [ ol Gt - 11 ¥ faemes -

38.

-1

ELSTAC I

c T ® U

QAT & &9 H GHT

T oo WMWWW

c L u T

~ — — —

~ © O u T

~—~ v T QO «©

-1

—~

o u ® v

)
)
)
)

1
2
3
4

(
(
(
(

Tl - [ &l Gt - 11 ¥ faemss

(A)
(B)
(©
(D)

40.

%<

—~~

N

- © v O T

C o sT U

—~

Y5 o ou

—~

=

(A)

(B)

(©
(D)

P.T.O.
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41. Match Item I with Item II

Item I

FILA

IAAF

IHF

FIFA
(1) (2)
d C
a b
c d
b a

42. Match Item I with Item II

Item I
Altius
Fortius
Glutius

Citius

—~~

1)

o ® a0
Q—U‘WQ—-@

43. Match Item I with Item II

Item I

NSNIS

SAI

YMCA

LNIPE
(1) (2)
a C
d a
b C
C b

®3)

@ a o 0 o

O N oo o

o 0 oo

=
= =

2
~— ~—

~ o~~~
@)
~

£

18

Item II
Hockey
Football
Athletics
Wrestling

(4)

O o o

(@]

Item II
Muscle
Higher
faster

Stronger

o o0 o R

Item II
Chennai
Patiala
Delhi

Gwalior

AR = PR S PR



it - 1 st Gt - 11 9 Tietsd :

41.

-1

FILA

(1)
()

IAAF
IHF

FIFA

4)

Altius

(1)

Fortius

()
®)

Glutius
Citius

%<

— U T ® QO

(A)
(B)
(©
(D)

At - 1 ot Gt - 11 9 fiesd

43.

-1
NSNIS
SAI

(1)
()

YMCA

)
4)

LNIPE

o .ov

C o u s

~ U © v QO

Z co .o u

(A)
(B)
©
(D)

P.T.O.
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44. Match Item I with Item II

Item I Item II
(1) Throndike (a) Personality Test
(2) Pavlou (b) Insight learning
(3) Kohler (c) Trial and error
(4) Sigmund Freud (d) Condition response
Code

(1) 2) (3) (4)

(A) C d b a
(B) a b c d
© b c d a
(D) d a b C

45. Match Item I with Item II
Item I Item II

(1) Speed (@) Shuttle Run
(2) Strength (b) 12 M. Walk and Run
(3) Endurance () Dynamometer
(4) Agility (d) 50M. Run
Code

(1) 2) 3) (4)
(A) d C b a
(B) a b C d
©) b a d C
(D) c d a b
46 to 50

Read the passage given below and answer the questions correctly that follow the passage.
Passage :

Pierre de Coubertin was born in Paris in 1863 and died in Geneva in 1937. His heart is
burried at Olympia, Greece where a small monument was erected to commemorate his
dedication to the Olympic ideal and spirit.

The Modern Olympic Games were revived in 1896. In 1894, he called a congress of 79
delegates from 15 countries, where he prepared the program of Olympic Games. He
included a moving ceremony with poetry, music and songs. All the members accepted
the program and unanimously decided to restore the Olympic Games. The modern
Olympic games took place in Athens in 1896.

De Coubertin became the child director as to the form and character of the games. The
Olympic Character, Protocol for Opening and Closing Ceremonies, the Athletes” Oath
and the five ring symbol were his creations. Uptil 1925 he was the President of IOC.

D—-4704 20



3
)
t
i

(1) ofers (a) THAIES =
(2) e (b) S AT
(3) IEEH () 2 TE T
(4) fome Fee (d) HEH WA
%<
1) (2 ) (4)
(A) c d b a
(B) a b C d
© b C d a
(D) d a b C
45. Gt - 1l Gt - 11 9 faemgd
T - 1 -1
(1) Tifd (a) AW
(2) drRd (b) 12 HI. 91k TWE
(3) &wHal (c) SETHMHIR
(4) Rl (d) 50H. &
%<
1) (2) ) (4)
(A) d C b a
(B) a b c d
©) b a d C
(D) C d a b
46 ¥ 50
= fea T afees wl ufed o) uf=st & 9 I wardl o 98 Sad i
uReT :
a1 < Had 1 51 L¢83 H U0 § o7 TR Jcg %39 H Sial H g3l | et ST
1 THEA TG 90 T Sferdran s § foha SRl SR U Biel TR o1 § 1 98 TR S8
S eAffeifus Tell & 3est IR wraen % ufa Tador forn on 39k TN sFern ¥
Q¢RE T aTefTen Siifcifueh Well o1 Yrsiiad foham om | ¢ H fIarlt & Fraredi= 7 gu it
% o) UTHGE! ! Teh HHT JATE ot ST&T SR SAifciaeh Wil T hii=hy S o | 3HY 32
T, shfoar, TMa 2R Ml o1 THEw fhar o1 9t T 3 sy & WieR fhar iR
A A Acifen Teil o1 STAeH S o1 o foran | deat snyfren oiifeifus Ta 2¢’e |
379 1 Y& g
T FIH Y& 9 T Tl o JUH HFIReh 9 | 3= Siifciiash Sell o eI, STHR
3R IURY TERY &t foamrat, faenea st sy, g wieal & fowe o1 fmfo fean ) o7 23y
Tk o AP Affeifuss afafa & 7eae7 91
D —4704 21 P.T.O.




46.

47.

48.

49.

50.

Where De Coubertins’ heart was buried :
(A) In Paris (B) In Greece
(C©) In Olympia (D) In Geneva

De Coubertin’s monument was created :

(A) To remember his dedication to the olympic ideal
(B) As he has born and died in Greece

(C) As he revived the modern olympics

(D) As he prepared the progress of olympics

Where and when the modern olympic games took place :
(A) At Athens in 1896 (B) At Greece in 776
(C) At Paris in 1863 (D) At Geneva in 1837

Who was the President of IOC upto 1925 :
(A) Suresh Kalmadi (B) Sivanthi Adityan

(C) De Coubertin (D) Socrates

Five rings symbol was created by :

(A) Plato (B) Aristotle
(C) Olympic Committee (D) Pierre De Coubertin
-00o0-
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46.

47.

48.

49.

50.

S Hed h A 1 SHA el TR o1 ?
(A) ufmd (B) WaH
(C) siffeifa=n (D) SHaTH

S FAd Sl TR ST ol

(A) SAffCueh TR & Ufd SR ST Sited Fufid fham 3Heh TS |
(B) Hifh 9 W9 H 5 9 W

(C) Hiifehr B MYk Aifcifaen Tell sl YAsiier o |

(D) Hiifeh IBM AffciTueh Tl 1 HIAHH T |

el IR o SMYfren Stifeilieh Well i Yot e |
(A) I 1896 (B) I 776
(C) ufRH 1863 (D) Sie 1837

2’34 T IOC &F AT hiF 9 ?

(A) G Herer (B) Toedt srfeer

(C) & paxdH (D) WHed

I gl &1 famg =i e

(A) @ (B) eifededt

(C) sifcfyer wffa (D) Tustdl & Fpori=
-00o0-
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Space For Rough Work

D—-4704 24



